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16 | W | EW 3SW4 170 4HN4 420 590 11
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19| S | EW 5HW-2 200 BHXW-4 | 1100 900 14
20 | W |Both INE1 90 2CN3 110 200 5
w2+ IMP| 10 |53
i 4 Ja Q) :‘. \" 2

%% 11 FE TR 7 A E

+ B IMP 10 53

£ 3+ IMP 10 53

2 BVP 0.45 19.55

5z




019 < § >RipERE 2B

S

NS IRK EREIBEAC) 6 T b I 3 1 NS A58 B S5 (BHO)
EW wEL w=EEEGHO) a e EW REGH HEEGSEAC)
neepr T 2R3 1% WA~ | CoP
b tyz2% | NS | EW | 29z2% | NS | EW | #6 | #1 | #6 [ #1 | #6 | #1
11 S |None 2HE?2 110 3HE3 140 30 1
12| W [ NS 4SE5 450 4SE4 420 30 1
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16 | W | EW 3NS4 430 2HN4 170 260 6
17 | N |None 3HN-3 150 2SE-2 100 250 6
18 | E NS 4SN4 620 2SS3 140 480 10
19| S | EW 5SE-5 500 4HXW4 790 1290 15
20 | W |Both 2CN3 110 2CN3 110
@3t IMP| 31 | 22
3 A
RS 9 ' 5 4 Just Make

* B IMP 31 22

& 3+ IMP 31 22

2 BVP 13.14 6.86

8
L)




019 < § >RipERE 2B

S

NS 7=t 2R (EAC) 1 O T b I 6 2 NS wEE MRS (BAO)
EW HH/INEL E4E(EE0) a e EW SEE FEBIEIC)
B oL | £ Mz LE it A% A~ [ COP
b txzu%x | NS | EW | 29225 | NS | EW [ #10 | #2 [#10| #2 [#10]| #2
11 S |None 2SS-1 50 2SS-2 100 50 2
12| W [ NS 4SE4 420 3NW3 400 20 1
13 | N |Both 2SS-2 200 2DE3 110 90 3
14 | E |None 2HW3 140 1SW1 80 60 2
15| S NS 4HW-1 50 4HW-1 50
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